ECON 351/01 & 02 

Home Work III
Due on 29/11/06
1:
Suppose X is produced by a monopolist who faces the following market demand: P=a-bX, where a,b>0.

       Monopolist also faces constant marginal cost, MC=c.

       If a unit tax $U is imposed, show that the tax will be shared equally by consumers and monopolist. You must show all steps of the derivation. 
2:
Suppose in an exchange model, with no consumption, there are THREE firms (A,B and C) with their production functions as:


XA = XA (LA, KA); XB = XB(LB, KB) and XC = XC(LC, KC).

The initial total endowments of L (Labour) and K (Capital) are given as Lo = LA + LB + LC and Ko = KA + KB + KC.

Derive the Pareto Efficiency condition and interpret it

3:
Assume that there are two goods (X) and (Y). A representative consumer has preferences that take the form U=XY and income I=$80.  X and Y are in perfectly elastic in supply at prices Px =$2 and Py = $2. Suppose a unit subsidy of $1 is provided to the producers of X. 
a:
Find the equilibrium quantities of X and Y before and after tax. 

b:
Compute the tax revenue in terms of Y and in terms of $. {Show it in the diagram using indifference curves and budget lines}

c:
Calculate equivalent variation and excess burden. {Show it in the diagram using indifference curves and budget lines}

4:
In a partial equilibrium model with downward sloping demand and upward sloping supply curves suppose government announces ad valorem subsidy of s%. 

A:
Using supply curve shift show the price paid by consumers and price received by suppliers. 

B:
Clearly label and identify the areas showing total cost of subsidy to the government.

C:
Clearly label and identify the area showing the deadweight loss resulting from this subsidy.

D:
What is the economic explanation of this excess burden borne by the society?

